AMENDED

NASSAU COUNTY FIRE/RESCUE ANNUAL CONTRACT FOR PHARMACEUTICAL SUPPLIES 2006/2008

January ______, 2007, by and between the BOARD OF COUNTY COMMISSIONERS OF NASSAU COUNTY, FLORIDA, a political subdivision of the State of Florida, hereinafter referred to as the "COUNTY", and the Bound Tree Medical, hereinafter referred to as "VENDOR".

WHEREAS, the Board of County Commissioners of Nassau County awarded the bid, for the Nassau County Fire/Rescue - Annual Bid for Pharmaceutical Supplies 2006/2008, Bid No. NC06-036, to Bound Tree Medical on the 8th day of November 2006, subject to execution of a contract; and

WHEREAS, the County entered into an agreement with Bound Tree Medical, on the 27th day of November 2006, through September 30, 2008, with optional one-year extensions.

NOW THEREFORE, and in consideration of the covenants hereinafter contained, it is mutually agreed between parties that the Contract entered into by the parties on November 27, 2006, shall be amended as follows:

1. The Bid Price Sheet, attached hereto as Exhibit "A", is hereby amended to reflect additions or deletions.

2. The remaining provisions of the Contract shall remain in full force and effect.

IN WITNESS WHEREOF, the parties have executed this Amendment to the Contract, the date and year first above written.

BOARD OF COUNTY COMMISSIONERS NASSAU COUNTY, FLORIDA

JIM B HIGGINBOTHAM

Its: Chairman

ATTEST as to Chairman's Signature:

JOHN A. CRAWFORD

Its:/ Ex-Officio Clerk

Approved as to form by the

Nassau County Attorney:

MICHAEL S. MULLIN

Bound Tree Medical

By:

ts. B. 1

Mihe adame ide + Continua Representation SECTION F: BID PRICE SHEET

Nassau County Fire / Rescue
Bid Price Sheet - Pharmacutical / Medical Supplies
Bid No. NC06-036

EXHIBIT "A"

Amended 01/10/07

6

6	Bound Tree Medical
_	

	Vendor Name: Bound Tree Medical		Bound Tree Medical			CLARIFICATION		
Item	Product Name	Product Description	Cost Per Item	Unit Of Measure	Quantity Per Case	Price (EACH)	Packaging Quanity	How Product Is Shipped
35	ET Tube w/ Stylette	6.0mm Cuffed	\$34.70	Вох	10	\$3.47	1/each	1/each or 10/box
36	ET Tube w/ Stylette	6.5mm Cuffed	\$34.70	Вох	10	\$3.47	1/each	1/each or 10/box
37	ET Tube w/ Stylette	7.0mm Cuffed	\$34.70	Box	10	\$3.47	1/each	1/each or 10/box
38	ET Tube w/ Stylette	7.5mm Cuffed	\$34.70	Вох	10	\$3.47	1/each	1/each or 10/box
39	ET Tube w/ Stylette	8.0mm Cuffed	\$34.70	Вох	10	\$3.47	1/each	1/each or 10/box
40	ET Tube w/ Stylette	8.5mm Cuffed	\$34.70	Вох	10	\$3.47	1/each	1/each or 10/box
41	ET Tube w/ Stylette	9.0mm Cuffed	\$34.70	Вох	10	\$3.47	1/each	1/each or 10/box
42	ET Tube w/ Stylette	9.5mm Cuffed	\$34.70	Вох	10	\$3.47	1/each	1/each or 10/box
43	ET Tube w/ Stylette	10.0mm Cuffed	\$34.70	Вох	10	\$3.47	1/each	1/each or 10/box
135	# Triangular Bandages	40" x 40" x 56"	\$0.19	Each		\$0.19	12/box	12/box or 20 bx/cs
142	Blood Pressure Cuff	XL Adult	\$11.38	Each		\$11.38	1/each	1/each or 5/cs
181	# Stretcher Strap		\$7.26	Each		\$7.26	1/each	1/each
344		interlink	10000	Section		\$0.00	:/each	Meach or Altics
216	100 I.V. Fluid Bags NS 0.9%		\$121.92	Case	96	\$1.27	1/each	1/each or 96/cs
217	1000 I.V. Fluid Bags NS 0.9%		\$13.44	Case	14	\$0.96	1/each	1/each or 14/cs
224	Intermittent Infusion Set Tubing	19x7\8	\$0.44	Each		\$0.44	1/each	1/each or 50/bx
236	Regulated Medical Waste Sharps	12 Qt.	\$4.06	Each		\$4.06	1/each	1/each or 20/cs
248	Syringe W Needle	1cc Retractable needle	\$0.12	Each		\$0.12	1/each	1/each or 50/cs
260	Blood Glucose Test Strips	Ascensia Elite XL	\$26.64	Each Box	50	\$0.5328	50/bx	50/bx or 24 bxs/cs
263	Forceps, Dilating Trousseau		\$18.43	Each		\$18.43	1/each	1/each
271	Pediatric Back Board		\$33.41	Each		\$33.41	1/each	1/each
272	Respirator	N95 Particle	\$13.13	Вох	10	\$1.313	10/box	10/box or 120 per case
285	Disposable Underpad		\$0.12	Each		\$0.12	1/each	1/each or 1000/cs
286	# Eye / Mouth / Nose PPE		\$0.78	Each		\$0.78	25/bx	25/bx or 4 bxs/cs
291	Gloves	Sterile 6.0	\$0.36	Each	pair	\$0.18	2 per pair	2 per pair or 200 pr /case

6

Bound Tree Medical

Vendor Name: Bound Tree Medical		Bound Tree Medical			CLARIFICATION			
Item	Product Name	Product Description	Cost Per Item	Unit Of Measure	Quantity Per Case	Price (EACH)	Packaging Quanity	How Product Is Shipped
293	Gloves	Sterile 7.0	\$0.36	Each	pair	\$0.18	2 per pair	2 per pair or 200 pr /case
295	Gloves	Sterile 8.0	\$0.36	Each	pair	\$0.18	2 per pair	2 per pair or 200 pr /case
302	Sanitary Towelettes	Pre-measured in Despencer	\$0.02	Each	100	\$0.02	100/box	100/box or 10 bxs/case